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Some say it is 2105, for — R2YT NMVW 2192 SDPIRY ANRT 10D 779 IR
It will become confused with the authenticating of n\uw generally

OVERVIEW

According to the one who maintains *X1n 2Wwn 2215 (in a case where he told ten
people to sign the v3), there is a view that if the first two signatures on the v were
from a 09 X 217 the v is 70D, because we may confuse this with mavw avp
X177 and assume that there too it is 2w> if it was signed by a 05 WX 217p. Our
moon discusses where a 21091 2177 may sign on a “ww.

nooIN asks:
— (N9 97) PN 902 1}:?5 ANT 1‘1\’)1??: VN NIV INI 99NN ON)

And if you will say; why is this case different from a 9w p» vx concerning which
"R states later in P97 P95, that -

— 29103 12 Y¥INA 12 NYINNA 172 299D DINN YA IN
If he wishes he may allow a 3192 to sign, whether it is in the beginning, the
middle, or the end of the va (as long as there are two W2 o>7V) —

Mo0IN answers:
— 1Y DY 1YY 12NN 1PIYIN 1NNI DY DYDY PIYT TWIPN V) SINYT 91917 U

And one can say; that a "wp» ua is different, for a 7wpn i requires three 27y,

but only two of them who are ="w> are signing for the sake of n7y -
— >21519NY 9NN NY 7990

Therefore there is no concern for 219X -
— DY1Y DIVYN DIV ON 3 TPIY PRY XD YaN

However here (by 7wy nR), since only two signatures are required for n17y -
— 5919MRY SNNY 1Y DWY DN INTY DINYNIN DIYT 19N)

People will assume that certainly the first two signed for n17y, and it may cause
SBYPION —

" A 2w pn va is a vx which is written in a unique fashion. They would write a line (or two) and leave an equal amount
of blank space and fold it together, stitch it up and have the 7v sign on the back, then they would continue writing (a
line or two), leave a blank space , fold it together, stitch it up and have another 7¥ sign on the back. This would
continue until the entire v was finished in this manner. A W pn v requires (at least) three 0°7y.
2 Why do we not say the same here (if X0 0ww» 0912) that as long as there are two W3 27y, it is "W, no matter
where the 2109 W 2177 signed, even if it is in the beginning, just as it is 2w by a WwPn V17!
? We initially know that three o>7v are required but only two of them need to be w3 o7y.
* The first two are (seemingly) what is required; the others are just an addition.
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In summation; Moo distinguishes between a Ww1pn VX where the 9105 79 does not affect the v
even if he signed first, and a regular vx where it will be invalid if the 9109 signed first (according
to this 9109 119 "AK).

nooIn asks:
— (3,9 1mp%) YIMIN 7992 N¥T1NA ¥NRYUNI 9V 0221992 1NN Sﬂ"pm MNT IYP VAN

However there is a difficulty, for 5731 ruled that if he filled up the empty space
with relatives, the 70w is 9w>; and it is explicitly indicated in w27 P9 -

— “3n59N 2NN 11 PININY POIY Y N Y33 NYPINT 1INYINIT
That s'm>p1n ruling was taught regarding the case where he filled up (with

2°217p) the two blank lines in which he separated the signatures from the writing
of the 0w —

mooIn answers; distinguishing between 1°v°) (where it is 7109) and other M vw (where it is Ww>):
— MY 9P°Y 0N DMIYNINY 2920 NT XDA AT PNRMN PR VIN PTYT 1123 DN 13929 9IINY

And the n''1 answered; that since the 237 of a v do not sign one without the
other (all 2>7v must be present when any of them sign), it is logical to assume that

the first witnesses to sign are the main M7y -
— 70511 59 %395 DINWYNIN MNNY >aY

Since they signed first before all the other 2°7y -
— N9NN PMINN DIIPY DINIIVI MIVY INYA DNN YaN

However, there (regarding 7°pim) we are discussing other n1ww (not v°3), so

when they see that the 25319 sign first -
— 9999 1NN 13 YINN IN ATINN 1NNNN NIINH INSHY DN 19N

They will assume that they signed first those that were there first, or that the
0 217p signed later to fill up the blank space, but not because they are M7y .

In summation; m»oIn distinguishes between MW IXW were it does not matter if the 0°9109
signed first, and 1% where it is 209 if the 0°9109 signed first.

3 3,20p 2"2.
® There is a rule that if there were two blank lines between the end of the qvw and the signatures of the witnesses, the
quw is 7100. [The reason is because we are concerned that the 7w Hva will cut off the top of the 7w (and leave only
the two blank lines and the 0°7y,) and he will write whatever he desires on the top blank line (and leave the other line
blank).] However 7°p1n ruled that if he filled those blank spaces with 0°9105 2’7y, the qvWw is w3, even though the
709 are the first two 0°7¥ to sign in the Juw. This seemingly contradicts this which n9own just taught that if the
first two 07V are 0°7109 X 2°217p the LW is 7100 because of 07 KY “nX.
7 All the o7y were present when these two signed, and they were chosen to sign first; obviously because their
testimony is most important. Therefore if we were to allow a 21091 2177 to sign first (by a v3) it will lead us to assume
(by nuw Rw) that a 71091 211p are fit for o>7y.
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mooin qualifies the ruling of our X773:
— %95 90 ¥R AN NYINNA NIN HP09 RY XN 95097 1NN 1999NT O 13529 INIIN)

And the n''1 ruled that even according to the one who invalidates the v here,
he is not %015 unless the 0°217p signed first, however if they signed in the middle

or the end of the other signatures it is 9> -
—T521519NY NN NY A9INNA 90 NYT 11997

For since they did not sign in the beginning it will not come to 211N —

mooIn anticipates a difficulty:
— (3,307 97 X903 Na3) DIV V) W92 N9 7519919 ONNSDIND NOINT N

And regarding that which we learnt in the Xnsown and it is cited in the

beginning of vywp v P75 -
—90YN DY 0NN DITY NWNNIY NYAIN D 19D

He had four or five 2>7v signed on a uw -
— Manwa mryn 0PN DDIVI IN D219P DIIYNIN DY INSNDN

And the first two were found to be 2°21p or a"»ep; the testimony can be

sustained with the other 2°7y -
— NN9DINA NOINN NN T2
This is how the text reads in the Xn29IN. This would seem to indicate that it is w2 only

if the 07091 0°217p were the first to sign.12 This seemingly contradicts the ruling of the n", that
on the contrary, in the middle and end there is more reason that it should be w3 —

mooin replies:
— MTYN IPOY DAY AN ARV 29 DY GNT RIMNAID DIYNIN DY VPIT DN 12929 9N

The n"= explained that the Xn>12 mentioned that the 2°2105 were the first two,
to teach us a novelty, that even though it is readily apparent that these 0°910

are the main witnesses since they signed first, nevertheless it is qw> -
—ANRYA MTYN DPPHN D109 IN D219 DININN IN DIYSNN INEN) ON 19V U9

And certainly if these 293199 079 or 0°7109 were found to be the middle or last

8 According to this view, when the X3 stated, 191 79°1n2 01007 °X it meant only if 77°nna ownn; however if it was not
72°’nna oInn (but rather 7102 % Y¥nX31) then both 7% ™R agree (according to the *Xin a1wn 0913 7"7) that it is w>.
’ If they do not sign at the beginning it will not be considered M7y7 P (since we maintain “X1n DWw» O2).
Otherwise (if we assume that it is always 2109), how can we say that *Xin own it is "w3. See footnote # 28.
1051 g 0. In our XnNd0IN it reads: 27V IRW2A MY 2»pPNN ]’5105 W TP21P DNWRIT A IRXAN 2TV 7 19V MmN V.
1 In our X773 it reads: IRW2 MY 2»pPNn 2709 R 2P 197 AR R¥AN WWH O¥ PNM DTV AWM YR 17
2 This (in itself) does not contradict the view of the 2109 7% *x (if the 0°217p were the first to sign), because as
moon just answered there is a difference between 103 where it is 9109 and mnvw KW where it is 2w>. However the
implication of the Xno01n, which indicates that it is only w2 in the beginning and not later, seemingly contradicts the
view of the n"3 that 701 ¥¥»X is more W3 than 73210 (for A00 is MIYA PW).
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witnesses, the m7y will be validated by the rest of the o~ w> o7w.

In summation; according to the n"9 by mww XY if 2°217p or 0°7109 sign anywhere we say 2°°pnn
avwa M7, and by v (according to the 9109 7% *nR), it is 7105 only if they sign first, but not if
the sign ¥¥nX2 or 702.

mooIn offers a dissenting opinion (whether by nM17ow it is 7w wherever the 0°217p sign):
— 902 122 YNNNA 122 NYNNA 172 D2219P DY MHVYA WD INT PNYY 13929Y NN 1PN)

And this is not the view of the >''9, for if by other nyauw it is "w> regardless if

the 2°219p signed in the beginning or in the middle or in the end -
— Paws 419 2997 112 IX 052197 DU NIPY SAN RNIAYT YIN

Let us be concerned that perhaps the "vw will be authenticated by two 2°21p
or one 27 and one ">, which is invalid.

mdoIN anticipates a possible rebuttal (and rejects it):

—90YaY NININNN U3 19920W 1Y 0PN KD ODIYDT 919915 NI
And we cannot say that there is no concern that we will be 2»p» the 0w thorough
the 2177 (only), because 7"°2 is never 2%p» a Tww until they recognize all the
signatures in the "W (so they will be 0»pn the Tww through the o w3 o7y [as well]), this

4"

seemingly removes the s""9 objection —

mooIN interjects that seemingly this rebuttal cannot be valid:
— %153 55N NNYDN Y91 1352991 YWIPN VIZT 2) DY GN)

And even though that by a "wp» vx we are 2%°p» it from any three witnesses

that are found there, but we do not check on all the additional witnesses, so how can n19on
even suggest that by 70w 01°p we check all the witnesses —

mooIn responds that we cannot compare a PR VA to regular OW:
— oY 0PI MNIVN KD YYP U3 DY DINNNY 1929 NINILNRT DIVN ONN

There by a “wpn v), since the 3129 troubled them to sign on every stitch,
therefore the 7127 did not trouble her to be 2%p% all the o>7y; three is sufficient -

" If we maintain (as the simple meaning of the Xnoo1n indicates) that 222177 are not 0 if they sign first, then we
will be 0>pn the "W from the later o>7v; however if we assume as the n"9 does that 0°217p are never 7019 the 0w
(regardless where they sign), 7"°2 may inadvertently use the 217p for the “vwn o1°p, for they do not know where the
217 may have signed! See >"2% %1 PRY 7"72 7w 2"nn. See ‘Thinking it over” # 2.
* A wipn vx may have [only] on 217 7v sign on it; not more. If we are 2»pn any three of the o>7v, there will be a
orp of (at least) two DWw> O°7y.
"% It is not on account of the parties that there are so many *7¥; it is the 2211 n3pn (by a WP v3), therefore they did
not require a strenuous effort on the part of the Twx.
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— ¥yn519a 019 Sya ©INNM HYaT 1T XIN YaN
However here by mnuw xw that he can sign how many he wants, perhaps we
can say that all the 7Y require 21, so the concern of the > is seemingly resolved —

mooIN rejects this notion that 1P is required for all the signed 2>7v:
— BNAAUNY D197 12 HANR AN9Y DY 192 XIN 1Y XY 01w 1033 1959NR NN

For 7171 ' states in wywp wa 19, this law (that if there is a blank space of one line
it is 7w2) is only if the space is between the signature of the witnesses and the

text of the "vw; however, between the witnesses’ signature and the XnwN -
— P09 NNX DOV PINTN 199N

Even if it is removed only one line it is »185. This concludes the ruling of >" -
— WISy s anah DOTYN P2 7o)

And the X713 there asks, we should also be concerned if there is a blank line

between the signature of the witnesses and the text of the “uw, that -
— Y73y NI D143 M99 1NN NN NVIYA 11 X1 AN NNYT

Perhaps he will write what he desires and forge witnesses on one line (right
above the real witnesses) and he will say, I did this in order to increase the

number of witnesses, so why is such a > ww?! -
— NYYN HY DY1YH NIN NVN TV OITYN IMN 12199991 1PNR NIN) NN 95 D %YM

And the X answered, any 0w which is made in this manner (that there are
07V on the same line as the 7w, and 2’7V underneath the "vY), we are not 2a»pn
this 20w from the 2°7¥ that are below the "vw, but rather from the 2°7¥ which

appear above on the same line as the qvw. This concludes the citation from that X723, Now

Mmoo continues with his proof that we are not 2*°p» a 2vw from all the witnesses -
— 2951395910 1193 NONT 599 Y919 NAYYAT YNPYN

It appears from the X723 that generally we are 2%°p» a "uw from any two 27V
that signed it -

'® Here the Tvws va made them all sign (beyond the required two), therefore it is appropriate that he be o»pn all of
them.
17 2,30p. See ‘Thinking it over’ # 1.
'8 Xnwx is the authentication by 7" that it is a proper Tvw with proper o7y (it is notarized).
1t is 7109 because if he left a blank line between the 07y and the XnwX the holder of the Juw (the m%») may cut off
the entire top of the "vw (including the a°7y¥7 n»°nn), and in that one blank line he will write as he desires and at the
end of the line he will forge two signatures, and he will have the Xn7wX immediately underneath to authenticate his
(false) new 0w and 0>7v. See following footnote # 20.
O1Ina regular 70w where the 07y sign below the text, the rule is that 71X qVWn PIM? PR, the last written line
cannot be binding if it is different than what was written above. However in this case where he will write one line
and on the same line have the 0°7v sign, it is a valid 70w (and we do not apply 71X 70WN 727 TX).
*! See footnote # 26.
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— 59550 7999 7Y RY MDINND 59 0PY 7598 111 ON)
For if it would be necessary to be 2%°p» all the signatures (as N19010 suggested),

the X713 there would have no question at all on >"9. This concludes M50 proof that we
only need to be 0>pn two signatures and not the rest.”

The n"A retracts:
— Y1) MY W91V 19 W91 DN 13229 93 M)

And (therefore on account of this difficulty)** the n"9 retracted his previous
ruling (that 2°21p are 7102 "2 Y¥MR2 172 WD) and he explained the Xnooin as it is

explained by the 377 -
— 995 D2)9P DINYNIN DY NI VP NPITY

That the 8ns»92 specifically mentioned that if the first two were 2°219p, etc. it is
w3 -
— ANVA NYTYD 0MPNN 7Y 191 IN 1129 1NNT 19°9n1

For we assume that they signed as an honor or to fill up the blank lines,
therefore only in such a case do we say the testimony can be validated by the

rest of the o7y -
NN MTY OVY INTIT 102 IMTY 1D IN 2997 DININRN 19 IN DMYSNND 19 N8I YaN

However, if a 105 18 2197 was found to sign in the middle or from the latter
07y, the testimony of the “ww is w3, for they certainly had him sign as a

witness (and not merely for an honor or ’15’73)25 -
— (3,50p 97 xna 823) VIV VI 9INP 0N

And this is what the X773 explained in ¥ ¥ P75 (to justify *"9)
— ®nbyn S 0r19Nn NIN NON HY D199 D10 PR NN IR %3 9

Any v which is presented in this manner (that there are 2>7v on the same line as
the "vw, and 2°7Y underneath the mw),27 we are not 2%p» it from the 2°7» who

signed below the 70w, but rather only from the 2°7» who signed above on the

same line as the W -
— NVN HY D1YN NON NOVNIOY DI1Y1 19199991 PNT NIOIN M1 NA9TN Nnbya baN

2 There is no concern for we will [also] have to be o™ pn the first two o°7¥ that signed on the same line as the 70w,
and it will become evident that it is a forgery.
> This poses a difficulty for the n"1 who previously maintained that the 291091 2°217p may sign anywhere in the
quw. This presents a difficulty for how will 7"°2 know which are the 0> w> and which are the o>105.
** See previous footnote # 23.
» See “Thinking it over’ # 2.
? Initially (see footnote # 21) the n"1 assumed this to mean that generally we can be 0»pn the Tvw from any two 27y
(including the top two); however now the n"7 maintains that we are not 2»p»n from the top two, but rather from
below the top two.
?7 See n'"m1 that a “uw written in this manner, the 22177 are prohibited from signing on the same line as the an>.
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However generally (by a regular 0% where the 2°7¥ sign below the 0W), we are
not 2»p» it from the 75ynbw 237y (who may have signed for ceremonial or other
reasons), but rather from the 2°7¥ that signed lower down.

According to this retraction N90IN reinterprets our XMA:
— 2xnby s919Y 9109 9902 YaN NYINNA NIN 9PWINI K NIN 9PWINT INNIY

And the one who validates the v here in our X723 (where 2°217p signed first), he
is only 9°w>2%» when the 2°217p signed in the beginning, however if they signed at
the very end, it is o2 according to everyone.

nooIN asks:
— P01y DIUM 9NT INPY INN ON)

And if you will say; according to the one who maintains that all ten are

considered witnesses -
—IINYT 295 DNIMN 0N DITY DIVN DINNNY YVVYHN bya nNyTe

For the intention of the writer of the ="uvw is to have them sign as witnesses,

and they are signing according to his wishes -
— MY MNNY MIVY INYA 1991 INNBN

Why do we assume by other n1vw that the o°2109 signed merely to fill the blank
lines -

— 9999 1NN 2NMY ann 19999u4 1950 93 *nhrYsy
Let us ask them; just as we ask there (regarding relatives that saw an incident),
‘did you come merely to see, etc. (or did you come to testify)’ —

MBoIN answers:
22157 11933 OMTY NIPNIY 1D YUY DIINND D117 TOY INYT BN 13529 VIN)

And the n'"1 answered that “vw is different for 2°7» on a "ww it is as if their

testimony was examined and validated in 7''52 (that the 70w was signed properly).

% If they signed in the middle, according to the >Xin @wn 7"» it is 7w, but according to the 0>7y wn "7 it is also
9109. If we assume *Rin 0wn then if they signed first there is the np17nn of 2105 77 *1RY W 772 K. See X"w1n (and
5"wann who disagrees with the X"w1mn). See also 120 mx *""9a.
¥ See 12 NN that if we maintain >Xin 21w, then it is assumable that it was a “Xin.
3 We should ask the o*7v if the qvws 5va said 101 0395 (and then it would be 109). See n'"ma.
31 ®,1 M>n. See previous *X 7"7 '0IN.
32 However in mdn 'on (where we do ask the 0*7v) we are discussing where they (merely) saw the incident, but did
not sign on a TW. In such a case we do not say 7"°22 1M7TY 7PMIY "n3, and therefore we (may) question them. See
‘Thinking it over’ # 3.

7

TosfosInEnglish.com



MR "7 '01n 2,7 A L7"'0a

SUMMARY

In a Wwpn V3 or by MW IRW the (9109 IR) 217 may sign first. By a (regular) v
(according to the 2109 7% »X) the 2109 may not sign (at all), and according to the
TWw> 172 "k he may sign (only) first. We authenticate only two 0*7v on a q0w.

THINKING IT OVER

1. The %773 rules that there may be one line of separations between the 0¥ and the
27y (but not between the 27 and the Xnwx).” Seemingly in that case, after 7""2
will be 0»pn the "W (by the 07w 07y which signed it), the mo» will tear off the
top of the 7uw and write on that one line whatever he desires and sign 2°7¥ on that
one line,** and he will have a o™ pn Y (from the 01°p that was done before)?!35

2. Initially the *"9 states that 0°109 cannot sign Y¥aX2 or 7102 because °NRT W3
P '22 PP *¢ Later nivown writes that if the 005109 signed in the middle or last
7ov2 MY because wnm MYy owb kM. Can we reconcile these two
explanations?’®

3. mooin distinguishes between seeing an incident and signing on a WY (where we
say 723 1M7Y mpmw *n3).> In the previous mdoIN, when noon asked the same
question, why do we not ask the 0°7v if they signed for m7¥ or for °Xin, why did not
mooin give the same answer he gives here, namely that we do not ask them
because 723 017V TIPMIW M WY1 0w By ovmnng 27w

33 See footnote # 17 & 19.
3* See footnote # 20.
* See n'"m.
% See footnote # 13.
37 See footnote # 25.
¥ See on mx *"a.
¥ See footnote # 32.
40 See X"wAm and 7w "N,
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